Alg 1 13

Recognize the properties of equality and identity.

Recognize the associative property

Reflexive 3 = 3
Symmetric -
X =3 3=

Transitive -

1€
Substitution Let s
Additive identity £ |a

a---@ bc a=
D6




l!' I(eyconcep: Properties of Equality W]

| Y !

Property Words Symbols Examples
Reflexive Any quantity is equal fo itself.  Egr any number &, 5=5
Property =447
If one quantity equals a HB=2+86, 8"3-‘- Q
Symmetric second guantity, then the then2 + 6 = B.
Property second quantity equals 3 *"(p 1—8
the first.
If one quantity equals a HE+9=3+12
Transits second guantity and the Fd  and3 4 12 =15, then
second quantity equals a third 64+9=15
R— quantity, then the first quantity
equals the third guantity.
Substituti A quantity may be substituted Ha=b.1hanamaybe@m
for its equal in any expression.  replaced by bin any in=%.-1
pory Expression, 2




[ & KeyConcept Addition Properties @] “Ht +0 = ¢

~ Property | Words | Symbols  Examples _
For any number , the sum of L 2+0=2 g - S
Additive dentity |0 a+0=0+a=a - g %L’, el
Anumber and its opposite are  a+ (—a =0 3+(=3=0
Additive Inverse  additive inverses of each 4—4=0 '
L - - = —
oppo%r‘h—-pge.ro Pcnr 5""5-—0
& KeyConcept Associative Property ﬁ]
Words The way you group three or mare numbers when acding or muitiplying does not change
their sum or product.
Symbols For any numbers &, b, and ¢,

@+ & +cwa+ b+ dand(ablic = albg.
Examples B+ +T=3+(5+7) R6)-9=2-{6-9)

2+ +$)=i | (3#3)¥5 =10




Party Supplies

Item Cost ($) 9 g +-0

balloons 6.75

decorations 14,00 b +~ - 6 S W b S.

food 2325 .
NV,

beverages 20.50 O (¢ 8 u 1

EESARAS SIS NP S
3075 (suk) 4375 (Sul) = bY.S0Subs

“ Real-World Example 2

PARTY PLANNING Eric makes a list of items that
he needs to buy for a party and their costs. Find
the total cost of these items.
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Check Your Understanding = Stop-by-Step Solutions begin on page R13.

Example 1 Evaluate each expression. Name the property used in each step.

1.(1+5)5-14 6+ 4(19 — 15) 3. 5(14—-5)+6(3+7)

bs, 5G9+ 6-.t0 Su
4. FINANCIAL LITERACY Lxrl)l\nhs‘#quar‘;jrs 4 dimes, 7 nuku}‘{g* g‘i\n{u b
e X

o s oy e o dilopr B lyg o] B 2;1
Q__: g) B—). Subsg
|
Suh, L.r. —, Su
51y g Ot bs
Sub, é.7o |14 sulyg
Wby % Subg



| Evaluate each expression using the properties of numbers, Name the property used
in each step.

S 23+ 42 + 37 6. 275+35+425+15
1,90.2
7.3:7+10.2 3.1.24.3



Evaluate each expression. Name the property used in each step.
@®32-3-7 10. 7+ (9 — 3%
11.%[41-(7—4)] 12. 3+ 2. 1)]3

13.2(3-2-5>+3-§ us.%+suz+4—3)



